VCE & PDF https://www.passapply.com/1z0-934.html
2024 Latest passapply 120-934 PDF and VCE dumps Download

PassApply.com

170-9349%As

Oracle Cloud Platform Application Integration 2018 Associate

Pass Oracle 1Z20-934 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-934.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-934 PDF Dumps | 120-934 Study Guide | 120-934 Exam Questions 1/3


https://www.passapply.com/1z0-934.html
https://www.passapply.com/1z0-934.html
https://www.passapply.com/1z0-934.html

VCE & PDF https://www.passapply.com/1z0-934.html
2024 Latest passapply 120-934 PDF and VCE dumps Download

PassApply.com

QUESTION 1

What task can NOT be performed on Business Types View?
A. Create business exceptions

B. Create business objects

C. Business rules

D. Import business objects

E. Create enum objects

Correct Answer: C

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/defining-
data.htmi#GUID9890F9F5-5A78-47B8-BE22-4FBEAC7DB53D

QUESTION 2

Which two are ways Business Rules can be modeled in Process Cloud Service (PCS)?
A. using Oracle Business Rules Editor

B. using OIC Rule Editor

C. using BPM Rule Editor

D. using Decision Model Editor

Correct Answer: AD

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/creating-business-rules.html

QUESTION 3

Which two statements about lookup are correct?

A. Create a lookup to map values between application.

B. Lookups are deployed as part of integration activation.

C. Changes made to lookups already used in active integrations take effect immediately.
D. You cannot clone a copy of an existing lookup.

Correct Answer: AC

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-
service/icsug/managinglookups.html#GUID-084B7E40-542A-4CDD-A1B0-282B1DAD026C
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QUESTION 4

When a connection is in edit mode and the browser crashes, the connection becomes locked, which then prevents it
from being edited.

Which two users can unlock the connection?

A. a user with the Designer Role

B. the same user who has edited the connection
C. any user

D. a user with the Administrator Role

Correct Answer: BD

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud/integrations-user/using-integrationsoracle-
autonomous-integration-cloud.pdf (66)

QUESTION 5

Which two actions can be repositioned in integration with Oracle Integration Cloud (OIC)?
A. Function Call

B. Switch

C. Stage File with Read File in Segments

D. Stage File

Correct Answer: AB
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